VAN
Galvanized Modular Infrastructure Installation Guide TOMMATECH

GERMAN-based cﬁ
TommaTech’s 2X3 Solar Panels Ground-Mount Solution consists of
the components as outlined in table AY-GA-DZ-2X3-ANA
www.tommatech.de

TommaTech GmbH - Miinchen / GERMANY

mail@tommatech.de



7~ \
Galvanized Modular Infrastructure Installation Guide TOMMA\TE..EH

AY-GA-DZ-2X3-ANA

TommaTech 2x3 Ground-Mount Support Structure Solutions can be combined to
reach any desired panel carrying capacity with increasing arrays from 2x3 to 2x6,
2x9, 2x12, 2x15, 2x18, 2x21, etc.

The support structure sets that must be supplied for this are shown as follows.
AY-GA-DZ-2X3-SUPPORT TommaTech Ground-Mount 2X3 Support Structure
AY-GA-DZ-2X3-ASIK TommaTech Ground-Mount 2X3 Purlin Set

VN

AY-GA-DZ-2X3-ASIK AY-GA-DZ-2X3-SUPPORT

AY-GA-DZ-2X3-ANA
TommaTech Ground-Mount 2X3 Support Structure Solution
Package Includes:

2X TK/PMPU 40X60 E30 L1900 mm H
2X TK/PMPU 40X60 E30 L1000 mm H
2X CP 40X80 DS E20 L3800 mm H
2X CPR 41X41 E15 L2100 mm H
4X CPR 41X41 E15 L3200 mm H
2X CPR 41X41 E15 L2550 mm H
8X C-PROFILE ASSEMBLY PART WBP-20
8X MEKG 35 ALU. END CLAMP
8X MMKG 40 ALU. MID CLAMP
16X M8X40 IMBUS BOLT
16X M8 SPRING NUT
44X M10X25 AKB BOLT
44X M10 NUT
44X M10 WASHER
12X M10 DOWEL

www.tommatech.de
mail@tommatech.de

TommaTech GmbH - Miinchen / GERMANY



7~ \
Galvanized Modular Infrastructure Installation Guide TOMMA\TE,.EH

AY-GA-DZ-2X3-ANA
TommaTech Ground-Mount 2X3 Support Structure Solution Includes:

1X TK/PMPU 40X60 E30 L1900 mm H
1X TK/PMPU 40X60 E30 L1000 mm H
1X CP 40X80 DS E20 L3800 mm H
1X CPR 41X41 E15 L2100 mm H
1X CPR 41X41 E15 L3200 mm H
2X CPR 41X41 E15 L2550 mm H
4X C-PROFILE ASSEMBLY PART WBP-20
22X M10X25 AKB BOLT
22X M10 NUT
22X M10 WASHER
6X M10 DOWEL

AY-GA-DZ-2X3-ASIK
AY-GA-DZ-2X3-ASIK TommaTech Ground-Mount 2X3 Purlin Set Includes:
4X CPR 41X41 E15 L3200 mm H
4X C-PROFILE ASSEMBLY PIECE FBP-4
12X MMKG 40 ALU. MID CLAMP
12X M8X40 IMBUS BOLT
12X M8 SPRING NUT
16X M10X25 AKB BOLT
16X M10 NUT
16X M10 WASHER

TommaTech GmbH - Miinchen / GERMANY wutommatech.de



Galvanized Modular Infrastructure Installation Guide

™

S —c--—c——c-ocooo——ooo—ooocccooooooof 4

A

CP 40X80 DS E20 L3800 mm H

PR 41X41 E15L2100 mm H

copooooooooacooW

N\
TOMMATECH

GERMAN-based companyee

607,46

TK / PMPU 40X60 E30 L1900 mm H

1X M10X25 AKB BOLT
1X M10 NUT
1X M10 WASHER

Finl

B e e e T T LY

A

1905,37

2X M10X25 AKB BOLT
2X M10 NUT
2X M10 WASHERS

" i

coocoocoooooooooo

TK / PMPU 40X60 E30 L1000 mm H

2X M10X25 AKBCIVATA
2X M10 SOMUN
2X M10 PUL

1X M10X25 AKB BOLT
1X M10 NUT
1X M10 WASHER

TommaTech GmbH - Miinchen / GERMANY

www.tommatech.de
mail@tommatech.de



N\
TOMMATECH

GERMAN-based companyee

Galvanized Modular Infrastructure Installation Guide

1X CPR 41X41 E15 L3200 mm H

1X END OR MID CLAMP 1X CPR 41X41 E15 13200 mm H
1X END OR MID CLAMP

1X MBX40 IMBUS BOLT 1X M8X40 IMBUS BOLT

1X M8 SPRING NUT 1X M8 SPRING NUT
3X M10X25 AKB BOLT 3X M10X25 AKB BOLT
3X M10 NUT
R, 3X M10 NUT 3X M10 WASHER 1X CPR 41X41 E15 L3200 mm H

3X M10 WASHER 1X END OR MID CLAMP

1X M8X40 IMBUS BOLT

1X M8 SPRING NUT

3X M10X25 AKB BOLT

3X M10 NUT

3X M10 WASHER

1X CPR 41X41 E15 L3200 mm H
1X END OR MID CLAMP
1X M8X40 IMBUS BOLT
1X M8 SPRING NUT

3X M10X25 AKB BOLT
3X M10 NUT

3X M10 WASHER

CPR 41X41 E15 13200 mm H —==1 % ] -
FBP-4 PLATE IS ADDED FOR
MODULAR SYSTEM
REPLACEMENT.

EXTENSION IS MADE WITH 4

E M10X25 AKB BOLT SET

&

0% 7

/( 4 2 [

CPR 41X41 E15 L3200 mm H —==

DUE TO THE CHANGE MADE
IN THE PANEL DIMENSIONS,
1 THE CLAMP IS PRESSING THE
TRACK PROFILE FROM THE
FULL END.

CPR 41X41 E15 L3200 mm H

CPR 41X41 E15 L3200 mm H —=={ I

-

CPR 41X41 E15 L2550 mm H CPR 41X41 E15 L2550 mm H

coscooooobooomsoooooooooooieao oo

1900,07
FOR MODULAR TABLE, SIZE IS:
SIZE x DIMENSIONS x SHOWN ON THE BACK PAGE.

www.tommatech.de
mail@tommatech.de

TommaTech GmbH - Miinchen / GERMANY




7~ \
Galvanized Modular Infrastructure Installation Guide TOMMA\TE.,EH

THE DIMENSIONS OF DIFFERENT SUPPORT STRUCTURE SETS BASED ON MODULAR AY-GA-DZ-2X3-
SOLUTIONS ARE AS OUTLINED BELOW:

SUPPORT STRUCTURE TOTAL NUMBER OF
serionar | [QTASENTAOERGHE gy | TOTAecRo
2X3 VERTICAL SET 3200 600 1900 2
2X6 VERTICAL SET 6400 600 1750 4
2X9 VERTICAL SET 9600 750 2025 5
2X12 VERTICAL SET 12800 800 2240 6
2X15 VERTICAL SET 16000 800 2050 8
2X18 VERTICAL SET 19200 600 2250 9
2X21 VERTICAL SET 22400 800 2080 11
2X24 VERTICAL SET 25600 800 2180 12
2X27 VERTICAL SET 28800 750 2275 13
2X30 VERTICAL SET 32000 600 2200 15
2X33 VERTICAL SET 35200 800 2240 16
2X36 VERTICAL SET 38400 800 2150 18
2X39 VERTICAL SET 41600 800 2200 19
2X42 VERTICAL SET 44800 800 2250 20
2X45 VERTICAL SET 48000 800 2320 21
2X48 VERTICAL SET 51200 800 2360 22
2X51 VERTICAL SET 54400 800 2300 24

AY-GA-DZ-2X3-SUPPORT STRUCTURE
THE NUMBER OF COMPONENTS REQUIRED FOR DIFFERENT SUPPORT STRUCTURE SETS ARE AS
OUTLINED BELOW:

NUMBER OF NUMBER OF NUMBER OF
SUPPORTSSETTRUCTURE AY-GA-DZ-2X3- AY-GA-DZ-2X3 AY-GA-DZ-2X3
SUPPORT STRUCTURE SUPPORT SETS SHEAR SETS
2X3 VERTICAL SET 1 0 0
2X6 VERTICAL SET 1 2 1
2X9 VERTICAL SET 1 3 2
2X12 VERTICAL SET 1 4 3
2X15 VERTICAL SET 1 6 4
2X18 VERTICAL SET 1 7 5
2X21 VERTICAL SET 1 9 6
2X24 VERTICAL SET 1 10 7
2X27 VERTICAL SET 1 11 8
2X30 VERTICAL SET 1 13 9
2X33 VERTICAL SET 1 14 10
2X36 VERTICAL SET 1 16 11
2X39 VERTICAL SET 1 17 12
2X42 VERTICAL SET 1 18 13
2X45 VERTICAL SET 1 19 14
2X48 VERTICAL SET 1 20 15
2X51 VERTICAL SET 1 22 16

www.tommatech.de
mail@tommatech.de

TommaTech GmbH - Miinchen / GERMANY



7~ \
Galvanized Modular Infrastructure Installation Guide TOMMA\TE.,EH

PLUS - BEAM CONNECTION TYPE

M10X25 BOLT SET

M10X25 BOLT SET

WBP-20

M10X25 BOLT SET

Sample Concrete Ballast properties are as follows.
These dimensions are suitable for C-25 concrete class.

) 400

2700
TommaTech GmbH - Miinchen / GERMANY

[ 1

Concrete dimensions are representative and there is no
transportation guarantee. The buyer should choose the dimensions
according to the appropriate load values according to the
installation location.

www.tommatech.de
mail@tommatech.de



